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OAKLAND, CALIFORNIA

AL-294 (FAA) 24305

Rwy Idg 10000
TDZE 9
Apt Elev 9

LOC |-AAZ
111.9

APP CRS
116°

ILS or LOC RWY 12

SAN FRANCISCO BAY OAKLAND INTL(OAK)

DME required. From RAIDR: RNAV 1-GPS required.

MISSED APPROACH: Climb on heading 116° and on OAK VOR/DME

or AP or HUD to DA.
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5100 on heading 090° and on OAK VOR/DME R-114 to DECOT INT/
OAK 11 DME/RADAR and hold, continue climb-in-hold to 5100.
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OAKLAND, CALIFORNIA
Amdt 88 26MAR20

SAN FRANCISCO BAY OAKLAND INTL (OAK)

37°43N122°13'W ILS or LOC RWY 12

SW-2, 20 MAR 2025 to 17 APR 2025



